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FINAL ANSWER KEY

Paper: 001 - Kerala Service Rules(Lower)
Date of Test 25-03-2023
Questionl:-Compensatory allowances are
A:-TA
B:-HRA
C:-CCA

D:-All of the above
Correct Answer:- Option-D
Question2:-The maximum amount of over payment that can be recovered from subsistence allowance of an officer
A:-2/3
B:-1/4
C:-1/3
D:-1/2
Correct Answer:- Option-C
Question3:-The maximum period of earned leave that can be availed as leave preparatory to retirement
A:-180 days
B:-240 days
C:-300 days
D:-No limit
Correct Answer:- Option-C
Question4:-An officer entered in service on 1.5.1994. Calculate HPL to his credit as on 1.11.1999
A:-100 days
B:-80 days
C:-90 days
D:-95 days
Correct Answer:- Option-A
Question5:-Ex-gratia pension is paid to employees having
A:-Upto 9 years service
B:-Upto 10 years service
C:-Upto 11 years service
D:-Upto 12 years service
Correct Answer:- Option-A
Question6:-An officer joined duty on 31.5.2012, the maximum number of casual leave he can be granted in the same calendar year at the discretion
of the authority is
A:-10
B:-20
C:-15
D:-18
Correct Answer:- Option-B
Question7:-Condition of retiring pension is
A:-The officer must give at least 3 months notice
B:-Retirement can be allowed only after the service is verified by AG
C:-No notional pay on the basis of weightage
D:-All of the above
Correct Answer:- Option-D
Question8:-An officer drawing basic pay of 40,000 was granted LWA for treatment of cancer. Calculate the ex-gratia allowance eligible for him
A:-14,000
B:-14,875
C:-20,000
D:-10,000
Correct Answer:- Option-A
Question9:-Date of family pension of an employee who dies while in service
A:-Next day of death
B:-1st day of next month of death
C:-1st day of the next April
D:-1st day of the next January
Correct Answer:- Option-A
Question10:-Special casual leave may be allowed to government
A:-Representing India in international event
B:-Who are office bearers of District Sports Council
C:-Whose wife undergo gyno sterilization
D:-All of the above
Correct Answer:- Option-D
Questionll:-An employee proceeds on LWA under Appendix Xl B before declaration of probation in the entry grade is not eligible for
A:-Increment
B:-Accumulation of earned leave
C:-Higher grade
D:-All of the above
Correct Answer:- Option-D
Question12:-An officer on tour had enforced halt for 2 days due rail blockage due to rain. The daily allowance admissible to the officer for the
enforced halt is
A:-1v2 DA
B:-¥% DA
C:-2 DA
D:-1 DA
Correct Answer:- Option-B
Question13:-If an officer under suspension dies before the disciplinary or court proceedings instituted against are concluded the period from the
date of suspension to death shall be treated as
A:-Eligible leave
B:-Half pay leave
C:-Duty for all purposes
D:-None of the above
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Correct Answer:- Option-C
Question14:-The limit upto which pension is attachable by a court of law
A:-10%
B:-20%
C:-50%
D:-Nil
Correct Answer:- Option-D
Question15:-Special casual leave can be combined with
A:-Earned leave
B:-Sundays
C:-Commuted leave
D:-All of the above
Correct Answer:- Option-D
Question16:-Period of dies non will not count for
A:-Earned leave
B:-Pension
C:-Increment
D:-Half pay leave
Correct Answer:- Option-A
Question17:-Leave not due is
A:-Earned leave
B:-Half pay leave
C:-Commuted leave
D:-Casual leave
Correct Answer:- Option-B
Question18:-Commutation of leave shall not be permitted on expiry of
A:-1 year
B:-6 months
C:-3 months
D:-2 months
Correct Answer:- Option-A

granted in advance.

Question19:-If the employee dies in the first year of service he is eligible to get

A:-1 month

B:-2 months

C:-3 months

D:-5 months

Correct Answer:- Option-B
Question20:-Service qualifying for pension

A:-Boy service

B:-Suspension period not exonerated

C:-LWA with medical certificate

D:-Foreign service without remitting pension contribution

Correct Answer:- Option-C
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from the date of sanction of original leave.

months emoluments as gratuity.

Question21:-An employee retires on 31.5.2018. His pay is 54000 with effect from 1.11.2016 and 55,350 with effect from 1.11.2017. Calculate

average emoluments

A:-54000

B:-55350

C:-54945

D:-55000

Correct Answer:- Option-C
Question22:-The minimum pension with effect from 1.7.2014 is

A:-10000

B:-9500

C:-9000

D:-8500

Correct Answer:- Option-D

Question23:-An NGO whose pay does not exceed 35,700 is eligible to get minimum

A:-50%

B:-65%

C:-35%

D:-60%

Correct Answer:- Option-B
Question24:-Paternity leave for 10 days each for

A:-2

B:-3

C:-All

D:-None

Correct Answer:- Option-A

of pay plus DA as half leave salary for the leave period.

children will be sanctioned to serving male employees.

Question25:-While travelling in Class Il hill tract officers are entitled to draw additional daily allowance of

A:-25%

B:-15%

C:-10%

D:-12.5%

Correct Answer:- Option-D

Question26:-If an officer travels more than 200 km a day by special conveyance the rate of mileage allowance for the excess 200 km will be reduced

to
A:-3/4
B:-1/2
C:-2/3
D:-1/3
Correct Answer:- Option-A

Question27:-Air mileage is calculated adding single fare plus incidentals. Incidentals allowed for a single journey

A:-1/2 DA
B:-2 DA
C:-1 DA
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D:-None of the above
Correct Answer:- Option-C
Question28:-While on tour an officer may draw halting allowance if boarding and lodging is free upto 90 days.
A:-No DA
B:-1/4 DA
C:-1/2 DA
D:-3/4 DA
Correct Answer:- Option-B
Question29:-Permanent officer draw earned leave at of duty.
A-1/11
B:-1/22
C:-1/10
D:-1/15
Correct Answer:- Option-A
Question30:-The maximum LWA that may be sanctioned for joining spouse within or outside the state including the leave sanctioned for other
employment, if any during the entire service
A:-5 years
B:-10 years
C:-15 years
D:-20 years
Correct Answer:- Option-A
Question31:-Compensation leave is not admissible to
A:-Head of Office
B:-Class IV employees
C:-LD Clerks
D:-Police Officers
Correct Answer:- Option-A
Question32:-If an officer dies while in service his family may claim TA for the journey to his home. For TA claims journey should be within
A:-4 months
B:-3 months
C:-6 months
D:-1 year
Correct Answer:- Option-B
Question33:-The average emoluments for computation of pension is based on the pay during last
A:-12 months
B:-6 months
C:-10 months
D:-3 months
Correct Answer:- Option-C
Question34:-Higher rate of family pension is allowed for a maximum period of
A:-3 years
B:-4 years
C:-5 years
D:-7 years
Correct Answer:- Option-D
Question35:-The number of times an officer is entitled to draw TA for departmental test is for any particular examination.
A:-1
B:-2
C:-3
D:-No TA
Correct Answer:- Option-B
Question36:-The maximum period of absence for employees leaving the country for private purpose (except joining with children)
A:-4 months
B:-3 months
C:-2 months
D:-1 month
Correct Answer:- Option-A
Question37:-Rule relating to countersignature of TA bill is described in
A:-Rule 61 Part Il KSR
B:-Rule 78 Part | KSR
C:-Rule 116 Part Il KSR
D:-Rule 91Part Il KSR
Correct Answer:- Option-C
Question38:-An officer drawing basic pay of Rs. 54,000 is deputed for training at Thiruvananthapuram for 90 days. Calculate the total daily
allowance admissible
A:-36,000
B:-30,000
C:-12,000
D:-25,000
Correct Answer:-Question Cancelled
Question39:-TA is eligible for journey after retirement provided the journey should be performed within
A:-1 year
B:-6 months
C:-3 months
D:-1 month
Correct Answer:- Option-A
Question40:-DCRG is admissible for a maximum period of qualifying service of
A:-29 years
B:-30 years
C:-33 years
D:-32 years
Correct Answer:- Option-C
Question41:-Transfer to foreign service of government servant is described in rule
A:-91 Part | KSR
B:-140 Part | KSR
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C:-33(b) Part | KSR
D:-78 Part | KSR
Correct Answer:- Option-B
Question42:-At present deputation allowance is
A:-5% of basic pay
B:-No deputation allowance
C:-10% of basic pay
D:-15% of basic pay
Correct Answer:- Option-B
Question43:-Joining time is described in
A:-Rule 49 Part Il KSR
B:-Rule 112 Part | KSR
C:-Rule 125 Part | KSR
D:-Rule 100 Part Il KSR
Correct Answer:- Option-C
Question44:-Every employee who enters government service on or after shall enroll as a member of the Group insurance scheme.
A:-1.4.1980
B:-1.4.1984
C:-1.9.1980
D:-1.9.1984
Correct Answer:- Option-D
Question45:-An officiating staff earns leave as 1/22 of duty during 1st year of service. When the post is confirmed or on completion of of
continuous service leave earned during 1st year is recast as 1/11 of duty.
A:-3 years
B:-6 years
C:-9 years
D:-12 years
Correct Answer:- Option-A
Question46:-An officer is transferred from one station to another 450 km away. If he travels by train he will get journey time
A:-2 days
B:-1 day
C:-3 days
D:-4 days
Correct Answer:- Option-B
Question47:-Personal effects allowable to an officer having basic pay 27800 is
A:-2000 kg
B:-1750 kg
C:-1500 kg
D:-1000 kg
Correct Answer:- Option-C
Question48:-An employee with basic pay of 72,000 in the scale 42500-87000 is deputed for foreign service. Compute the monthly pension
contribution
A:-7200
B:-10800
C:-8700
D:-13050
Correct Answer:- Option-B
Question49:-Annual verification of service book shall be made by the head of office every year in the month of
A:-April
B:-January
C:-September
D:-December
Correct Answer:- Option-A
Question50:-The average emoluments of a retired employee is 54,300 and qualifying service is 21 years. Calculate pension
A:-27,150
B:-19,005
C:-27,000
D:-28,000
Correct Answer:- Option-B
Question51:-Leave not due granted should not exceed days during the entire service.
A:-90
B:-180
C:-240
D:-360
Correct Answer:- Option-D
Question52:-The option for Time bound higher grade should be exercised before of due date with effect from 2/2016.
A:-2 months
B:-3 months
C:-6 months
D:-No option facility
Correct Answer:- Option-D
Question53:-Service book of an employee who dies while in service shall be retained by head of office for a period of
A:-10 years
B:-20 years
C:-25 years
D:-30 years
Correct Answer:- Option-C
Question54:-Family for TA includes
A:-Father
B:-Servants
C:-Brothers
D:-None of the above
Correct Answer:- Option-D
Question55:-An officer has earned leave of 115 2/11 as upto 31.3.2018. He was on commuted leave for 10 days in April. Arrive the total earned
leave at his credit upto 31.5.2018
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A:-119 "9/11°
B:-120
C:-120 © 8/11°
D:-121
Correct Answer:- Option-A
Question56:-The commutation factor of an officer retired at the age of 56 years
A:-11.42
B:-11.10
C:-11.73
D:-10.78
Correct Answer:- Option-B
Question57:-In which month annual life certificate has to be produced by a pensioner every year
A:-December
B:-March
C:-July
D:-August
Correct Answer:- Option-A
Question58:-The maximum period fixed for a employee for deputation to foreign service
A:-2 years
B:-5 years
C:-8 years
D:-10 years
Correct Answer:- Option-B
Question59:-The deduction from subsistence allowance at the option of the employee
A:-Refund of advance from GPF
B:-Income Tax
C:-House rent
D:-Loan from Government
Correct Answer:- Option-A
Question60:-If the pensioner loses his half of pension payment order who will issue a new one
A:-Accountant General
B:-District Treasury Officer
C:-Government
D:-Head of Department
Correct Answer:- Option-B
Question61:-Superannuation pension means
A:-Pension granted to an employee on attaining the specified age
B:-Pension on voluntary retirement
C:-Pension on abolition of post
D:-Pension in case of mental/physical disability
Correct Answer:- Option-A
Question62:-Special disability leave is limited to months for one case of disability.
A:-12
B:-18
C:-24
D:-36
Correct Answer:- Option-C
Question63:-Commuted leave can be granted to
A:-Permanent officer and officiating officers with 2 years service
B:-Permanent officer and officiating officers with 3 years service
C:-Permanent officer with 3 years service and officiating officers with 2 years service
D:-Permanent officer and officiating with 1 year service
Correct Answer:- Option-B
Question64:-Officers subordinate to Head of department are allowed to undertake TV programme with prior sanction of
A:-Government
B:-Accountant General
C:-Chief Secretary
D:-Head of Department
Correct Answer:- Option-D
Question65:-No medical certificate is necessary for leave not exceeding in continuation of maternity leave.
A:-60 days
B:-90 days
C:-120 days
D:-30 days
Correct Answer:- Option-A
Question66:- do not count for joining time.
A:-Strike days
B:-Holidays
C:-Sundays
D:-None of the above
Correct Answer:- Option-C
Question67:-An officer was transferred from Thruvananthapuram to Thrissur and left charge in 7.5.2018 AN, Monday. The date he should join
A:-14.5.2018
B:-15.5.2018
C:-16.5.2018
D:-18.5.2018
Correct Answer:- Option-C
Question68:-The time lag between the date of request by cancelling the unavailed portion of LWA and the actual date of joining duty will be treated
as
A:-Earned leave
B:-Commuted leave
C:-LWA itself
D:-Casual leave
Correct Answer:- Option-C
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Question69:-The term emoluments for DCRG will be
A:-Basic pay plus all allowances
B:-Basic pay plus DA
C:-Basic pay plus dearness pay
D:-Basic pay only
Correct Answer:- Option-B
Question70:-Condition for acquiring lien
A:-Post must be permanent and officer must be given confirmation
B:-Temporary post and probation declared
C:-Post permanent and 3 years of service
D:-None of the above
Correct Answer:- Option-A
Question71:-Probation may be declared in attaining the age of even if no obligatory test passed.
A:-40
B:-45
C:-50
D:-51
Correct Answer:- Option-C
Question72:-Leave for study purpose is granted to officers having continuous service.
A:-5 years
B:-2 years
C:-4 years
D:-6 years
Correct Answer:-Question Cancelled
Question73:-Date of effect of reduction of pension on commutation shall be 1st of the month following the month
A:-Commuted value drawn by the person
B:-The application submitted
C:-Commutation sanctioned
D:-None of the above
Correct Answer:- Option-A
Question74:-Arrear claim of TA is allowed in the case of
A:-Pay revision
B:-Confirmation
C:-Retrospective promotion
D:-Belated issue of pay slip
Correct Answer:- Option-D
Question75:-In the case of PCA which is correct
A:-Fixed monthly allowance
B:-No minimum number of days of travel is fixed
C:-Can be drawn in addition to other forms of TA
D:-All of the above
Correct Answer:- Option-D
Question76:-The year of birth of an officer is known, but not exact date and month. It shall be taken as
A:-1st January
B:-1st April
C:-1st June
D:-1st July
Correct Answer:- Option-D
Question77:-The kind of leave that shall be forfeited for every 3 days late attendance
A:-Leave without allowance
B:-Casual leave
C:-Half pay leave
D:-Earned leave
Correct Answer:- Option-B
Question78:-Special casual leave for a maximum of is allowed to undergo chemotherapy, radiation and kidney transplantation in a
calendar year.
A:-6 months
B:-3 months
C:-2 months
D:-1 month
Correct Answer:- Option-A
Question79:-Overtime allowance is classified as

A:-Fee
B:-Personal pay
C:-Special pay

D:-Honorarium
Correct Answer:- Option-D
Question80:-What is the basic of calculation of HPL?
A:-Completed days of service
B:-Period spent on duty
C:-Completed years of service
D:-None of the above
Correct Answer:- Option-C
Question81:-Who is competent to reduce the pension of an officer if his service has not been satisfactory?
A:-Government
B:-Accountant General
C:-Treasury Director
D:-Head of Department
Correct Answer:- Option-A
Question82:-Whose sanction is necessary for the re-employment of pensioner?
A:-Head of Department
B:-Accountant General
C:-Government
D:-Finance Minister
Correct Answer:- Option-C
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Question83:-ltem not counted as salary for income tax
A:-TA
B:-Pay
C:-DA
D:-Allowance
Correct Answer:- Option-A
Question84:-Application for patent permission by an officer is described in rule
A:-44 Part | KSR
B:-49 Part | KSR
C:-51 Part | KSR
D:-52 Part | KSR
Correct Answer:- Option-D
Question85:-The rate of family pension is
A:-30% of pension
B:-30% of last pay
C:-40% of pension
D:-40% of last pay
Correct Answer:- Option-B

Question86:-If an officer retires at the age of 56 on 31.10.2016 and pension arrived at 25,000. What is the maximum amount of commutation

A:-13,32,000
B:-13,00,000
C:-12,50,000
D:-10,00,000
Correct Answer:- Option-A
Question87:-An officer retired from service on 31.3.2016 with a qualifying service 29 years 1 month. The qualifying service for DCRG
A:-29
B:-31
C:-33
D:-30
Correct Answer:- Option-D
Question88:-The age of superannuation of IAS Officers
A:-56
B:-60
C:-62
D:-58
Correct Answer:- Option-B
Question89:-If the journeys are performed within 24 hours in two days DA is payable for halt above 12 hours
A:-1°1/2" °° DA
B:-'1/2" ** DA
C:-1 DA
D:-2 DA
Correct Answer:- Option-C
Question90:-NGO holding charge of gazetted post shall draw special allowance of additional charge with authorization of
A:-Accountant General
B:-Head of Department
C:-Treasury Director
D:-Head of Office
Correct Answer:- Option-D
Question91:-Time bound higher grade to school teachers (LP/UP teachers-government and aided) granted on completion of
A:-8, 14, 21 years
B:-8, 15, 22 years
C:-7, 14, 21 years
D:-7, 15, 22 years
Correct Answer:- Option-B
Question92:-The LTC shall be admissible to all eligible persons for a maximum period of
A:-15 days
B:-14 days
C:-10 days
D:-9 days
Correct Answer:- Option-A
Question93:-The DA eligible from 1.7.2017 is
A:-13%
B:-14%
C:-17%
D:-15%
Correct Answer:- Option-D
Question94:-KSR is issued under the proviso of Article of Constitution of India.
A:-309
B:-310
C:-311
D:-312
Correct Answer:- Option-A
Question95:-Who is the competent authority to accept the resignation of government servant?
A:-Treasury Director
B:-Government
C:-Chief Secretary
D:-Appointing Authority
Correct Answer:- Option-D
Question96:-The minimum recovery of GPF subscription is of basic pay.
A:-3%
B:-4%
C:-6%
D:-8%
Correct Answer:- Option-C
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Question97:-Taxable income of 82 years old senior citizen for the financial year 2017-18 is Rs. 6,00,000. Compute the tax liability
A:-25,750
B:-25,000
C:-20,000
D:-20,600
Correct Answer:- Option-D
Question98:-The maximum casual leave admissible for contract employees in a calendar year
A:-12
B:-15
C:-16
D:-20
Correct Answer:- Option-A
Question99:-The leave for hysterectomy (removal of uterus) for female employees is
A:-1 month
B:-3 months
C:-6 weeks
D:-45 days
Correct Answer:- Option-D
Question100:-The latest GIS rates came into effect from
A:-1.9.2016
B:-1.4.2016
C:-1.2.2016
D:-1.7.2014
Correct Answer:-Question Cancelled

8 of 8 Wednesday 07 June 2023 04:19 PM



